’W%TGT»———— HERg2 JEAWZH ST T alda ™ T YAy - 204

™ \ f——
i Tom - Tome — Oy, 0T h: W

. TYAGIEhI Q17 D
L O - I B

2023

™

Yelhds

‘ON LITHOOH

e

TSV U9 : 100

3% : 2 () a8 TFHUT IO : 200

(1)

w (2)

3)
(4)

T

get STATETET 100 FEEE W R, Shea s 3wt ffavara qrer g a1 segfeed
UG IS
T TR -FHTF B =i A e ater fosme, —
mmwﬁwmwmﬁwﬁﬁ@ﬁwﬁwmqmmm.
() T TEYfETRIE et JeTel 4 TRt 3o gefael ST = 1L 2, 3 or 4 378 TR feeid

ST 9 SR IAIERRER S-S ANE FAM Al Sl S -HHmEAR SiTihd e

FoffereT e AT hiesS TATEl. TRl AR TG IR St o, Ufeed 2 DIl U =T 41,
() a@rﬁwﬁmmm@sﬁmawﬁﬁaﬁﬁm%.mﬁwmmmmm
ﬁmwm%wwwﬁwma@aﬂmmmaﬁawmw
ﬁ.mmwﬁmmﬁmﬁ%mmamwmwwﬁwﬁa
wﬁ%mﬁﬁwﬁmmwﬁﬁﬂmmwﬁﬁm.aﬁa
e e A BRI TR g TTREE 25% fhet 174 T aw /e o .

7

21 TR ST fafm R S HUTEn @ TR A A ST T CHIRIERATTR FHEENIET THeTHTE AT
W%ﬁ.@%ﬁwwﬁm/ﬁ,%m%ﬁmﬁm@wm&mm
mmm—sz”mwmmmwmmmaﬁqum
e ERTATETSAT 07 / Rk U e 7 v SEret ek T ErEe.
mam%WWWM@mmmm@ﬁmﬁmmm
T, AR TErea TR TR s wi 9T =TaEg 3a SMTENET SWaT woEE a8 g g
et e uTE gige.

arhe

qefA areRT=a YEATEAT g e S

e It g iEaTER == T Fes=T=X F=T.



hﬁg 2 Q17

oAl HETEE I / SPACE FOR ROUGH WORK



@ 3 Q17

L%@muwﬁﬁmmémﬁWWanﬁﬁﬁammwaﬁﬂwmﬁhgnﬁmm@ahﬁ.
=T Wl ST FEE Fdl 7

i, =t | . T

ii. = 3 St JenEt

jii, =gl . & e

iv. =g gl fe

(1) HF 19 i (2) e ii 9 i
(3) IS 1T iv (4) HFS 1, 1i T i

Pandita Ramabai with the permission of the Ramabai Association, appointed
an advisory board to advise her, who among the following was included in
this advisory board ?
i. Justice M. G. Ranade
ii. Dr. R. G. Bhandarkar
iii. Justice K. T. Telang
iv. Bapu Hari Shinde
(1) iandiionly (2) ii and iii only

(3) iandivonly 4) 1, i and iii only

2.sHﬁgmﬂmﬁﬁﬁmawmmﬁmmyhiﬁﬁmm@mmmmmnﬁmﬁﬁ%w
gar ?
(1) Tl g wer
(2) . IETERE HEEH
(3) AT ATl wrEe
(4) WTE TTHEUE WP

In 1918 A. D., who advised to the Mumbai workers to establish the organization
‘People’s Union’ ?

(1) Rajashree Shahu Maharaj

(2) Dr. Babasaheb Ambedkar

(3) Narayan Meghaji Lokhande

(4) Bhai Madhavrao Bagal

aﬁwmm / SPACE FOR ROUGH WORK P.T.O.



(1) MW e e (2) 9% gl =
(3) THHIH AT YEH (4)  FOMSH et

Who defended Chiplunkar’s attack on Mahatma Jyotirao Phule through his
newspaper, considered as the beginning of non Brahmin journalism ?

(1) Narayan Meghaji Lokhande (2)  Bhau Daji Lad

(3) Tukaram Tatya Padval (4) Krushnaji Bhalekar

(1) = sirfor ferest (arerdr) ey
(2) T ATV IR T
(3) ¥ T YrefemEs T
(1) T AT e

On which of the following matrimonial relationship between two Royal families,
the ancient drama ‘Malavikagnimitra’ throws light ?

(1) Shunga and Vidarbha (Yadnyasen) family
{(2) Gupta and Vakataka family

(3) Shakas and Satavahana family

(4) Chalukya and Vardhana family

5. %mammawmmﬁﬁmémwuamﬁ%?

i, =%

ii. weome

ii.  3MFHE

v, M
v.  3of -
(1) i, ii & iii (2) i, iii 9 iv (3) i, ii,ive v (4) i, ilidgv

What was the medium of trade exchange during vedic period ?
i. Nishka

ii.  Krusnal
1ii. Shatman
iv. Gan

v. Shreni

(1) i, 1i and iii (2) i, iii and iv (3) 1,1, ivand v (4) 1, il and v

Feh1 HMTETS AT / SPACE FOR ROUGH WORK

A
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6. @gmwm@muﬁmmﬂmmﬁww%mwmgﬁw
mewmﬁmm.%mmm@‘ﬁﬁ-
(1) TREA™
(2) Ty
(3) TTAET™
(4) RIHEAY

According to Setu Madhavrao Pagadi, who of the following saint renamed
himself as ‘Shaha Ramjan’ and got converted to Islam by a Sufi Saint

Nizamuddin. It is a mystery of cultural history of Maharashtra.
{1) Gorakhnath

(2) Gahininath

(3) Jalandharnath

(4) Kanifnath

L RANECY

ji. U1 R

iii, -EE FAFTA

iv. YHEA §dle

(1) iv, i, iii, i (2) v, i, i, il
(3) i, iv, ii, i (4} i, iii, iv, 1

Arrange the following events in the correct order.
i. White paper

ii. Poona pact

iii. Nehru report

iv. Dharasna Satyagraha

(1) v, ii, iii, i (2) v, i, i, iii
(3) iii, iv, ii, i (4) i, iii, iv, i
FH<=q1 FTHTETS AT / SPACE FOR ROUGH WORK P.T.O.



@ 6 Q17

8. YdId A e faweft s,
A, mﬁwmmwwm.
8. A ST vt T aaw e,
. vﬁmmﬁwmﬁwﬁﬂﬁwm@%ﬁa
(1) e Jigin augst

(2) ATeARE TG AEee
(3) =B A
(4) e B Fvgm

The following statements are written about

a. He played an important role in the field of education in Maharashtra.
b. He prepared textbooks on various subjects.

¢. He wrote a book ‘Shunyalabdhi’ on Mathematics and Science in Marathi.
d. Keshavrao Bhavalkar has written his biography.,

(1) Dadoba Pandurang Tarkhadkar

(2) Atmaram Pandurang Tarkhadkar

(3) Balshastri Jambhekar

(4)  Gopal Hari Deshmukh

9. TEIT USFhIa HHGATE HIATHY A1 Y A,
3. U HAE Ty
9. =i e st

Arrange the following political organizations chronologically.
a. Pune Sarvajanik Sabha

b. Bombay Presidency Association

c. Madras Mahajan Sabha

d. Indian Association

() b a d ¢
(2) a d ¢ b
3) ¢ d b a
4 d b a ¢

AT TS AT / SPACE FOR ROUGH WORK

A
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10, TR A ol |l s v e 7

(1) WIAATH Azt Fams] w4 SO,

(2) faemeian THSRITR HEAT FET TS5 T,

(3) TS FIHE HITTHHS 12TE T T, AT 50 TEdEET TUE SWRE 9

(4) e e s T A A AT fafureem woe fafvEa # .

Which of the following decision was taken by Sabarmati treaty ?

(1) A competitive co-operative party should be established.

(2) Students should not be involved in politics.

(3) There should be no discrimination among lower caste workers and a team
of 50 volunteers should be formed and Hindu Muslim unity should be
maintained.

- (4) A committee of Motilal Nehru and Javakar to determine the members of

the Central Legislature.

11, 3. 9. 1934 wed e AR U SRl Tl TV @efieiid) ST ST FTH O

ATt ¥
(1) FTgves (2) AfHETE
(3) +B (4) @A

In 1934 A. D., which of the following region, witnessed the establishment of
‘Karshak Sangham’ as a peasant organisation ?

(1) Andhra Pradesh {2) Tamil Nadu

(3) Kerala (4) Bengal

(1) dfed drefiera F7% i . 5. TR

(2) g 7w L faen

(3) v g nfor A fa. Faw

(4)  ATTETES weas s AEfee T

Who remarked about the ‘Dandi Yatra as, Rama’s Historical March to Lanka ?
(1) Pandit Motilal Nehru and D. J. Tendulkar

(2) P.C.RayandD. P. Mishra

(3) Shankarrae Dev and G. V. Retkar

(4) Appasaheb Patwardhan and Suhasini Nambiyar

T FHIATATSE A7 / SPACE FOR ROUGH WORK P.T.O.
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13. e faum someewa smem ¢

i, YmTE TR B S,

ii. A ST IR S wfras g whme

iii. wetfamg rafan 9 fawa fereer 399 o,

iv. AT SRS 5w o smren smearE @ S

(1) == (2) #ATYA

(3) e (4) IO

About whom the following statements are related ?
i. Religion was separated from politics,
ii. Adopted a policy of seclusion towards brave women who followed Sati.
iii. To stop child marriage and widow marriage was encouraged. e
iv. Claimed that the final decision regarding the social law will be his.
(1) Babur (2} Humayun
(3) Akbar (4)  Aurangzeb

14, e faesti fafes moredm fati e 21 o
i, I AT ST e qrast favmder feein svon et
ii. 1857 =1 I3 BT S WISt Aée 9 it Aés Saram miiet g,
iii. FISHET 3 == geT= Tl wfa 9 T W,
(I} 1911 (2) 11 9iii

(3) 14 iii (4) =lH we

Bhills in Khandesh protested against British rule because

i. The Bhills of the Satpura division got inspiration from the event of the ==
uprising in North India.

ii. Taking advantage of the revolt of 1857 Bhagoji Naik and Kazising Naik
joined the revolt.

iii. Kazising and his associates burnt government treasuries and post

offices.
(1) iandii (2) il and iii
(3} 1and iii {4) All of the above

Tl HHETETS! AT / SPACE FOR ROUGH WORK

A
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15.' @?ﬁaﬁﬁmqﬁwﬁ:ﬁ—éﬁzaﬁﬁwmaﬁ@ﬁwm?

A, A g

9, HAF oA

&, aiE e

B, JenuTh

(1) 31 301 o % (2) & 3701 =% Fed
(3) 3 HI g HH (4) 3, W 0 & BEq

In which of the following newspapers did Annie-Besant present her thoughts
about Home Rule Movement ?

a. New India

b. Common Weal

c. Bombay Gazette

d. Telegraph

(1) aand b only (2) bandconly

(3) a and d only (4) a, bandconly

16. @refia faar 98
W, O FEU GRH eeRees Aafafaed HH A,
q. Famd aRER @ AT gaeis FRiE He.
& sifeeR) feg w3 SETHie HRESs Al ST Mefl FEUR 1.
(1) & fgam % SN AR
(2) v faum 3 SO AR
(3) e T 3 anfon & SU AT
(@) faum 3, = it & SO AR

Observe the following statements :

A, There is loss of bio-diversity due to dumping of toxic waste into soil.

B. Deforestation is responsible for frequent floods in river.

C. Fransisco Mendez was known as ‘Amazon Gandhi’ due to his work in
energy field.

(1) Only statement C is correct

(2) Only statement A is correct

(3) Only statement A and B are correct

(4) Statement A, B and C are correct

H<eA1 HATETE! JAAT / SPACE FOR ROUGH WORK P.T.O.
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17. Arfefied oM wa famgr dieeem T Bl
(1) A SsaEEe (NO,)
(2) ™zE HAFETEE (N,0)
(3) AR FETEETEE (NO,)
(4) TR (N,)

Nitrogen fertilizers in soils releases when broken down by bacteria.
(1) Nitrogen dioxide (NO,}

(2} Nitrous oxide (N,0)

(3) Nitrogen trioxide (NO,)

(4) Nitrogen (N5)

18. ﬁsﬁth@?ﬁaaﬁvﬁﬁﬁmﬁaﬁmaﬂ%a ?
FEE YRl e e TR,
1985 754 A3 wuen 57 qgear o1 o,

In relation to Ozone which staterments are true ?

A. Ozone is called protection shield of the Earth.

B. In 1985 it was clear that Ozone layer has holes.
C. 16™ September is celebrated as World Ozone Day.
D

In 1989 chemicals responsible for Ozone depletion are banned to
utilize,

(I) Only A, Band C
(2) Only B, Cand D
(3) Only A, CandD
(4) All the above

T FEE AT / SPACE FOR ROUGH WORK

A
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19. @Eiicidl T afefeEbl s SR AT 7

(1) == FAR (2) s g
(3) G FA (4) I N
Which of the following is not the type of Ecological pyramid ?
(1) Pyramid of number (2) Pyramid of biomass
(3) Pyramid of food web (4) Pyramid of energy
20. WWWWWWWWWW TEUTTA.
(1) T= e (2) I ae
(3) Tu=es ame (4) fwem
Some species if eliminated seriously affect the ecosystem. These are called
- (1) Blue stone (2) Red stone
(3) Yellow stone {4) Keystone

21. WWWWWWW@WW%WWWW
R B TR & 7
(1) B3 H (2) C 3G (3) D&M F (4) E 3w A

Observe the following diagram and state which of the following alphabets
indicate the gibbous phase of the moon ?
(1) BandH (2) Cand G (3) DandF (4) EandA

=T HIATETS AT / SPACE FOR ROUGH WORK P.T.O.
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“Wmmﬁmaﬁw@wm,m,%ﬂamww%
aitferdt, foeht s &8 = ware B

vafetn € e S el

(1) favasm (2) Fererfrn fovas

(3) T i e (4) ST fery

“Environment means the sum total of al] conditions agencies and influences
which affect the development, growth, life and death of an organism, species
or race”.

Who created this definition of environment ?

(1) Universal Encyclopedia (2) Britanica Encyclopedia

(3) A. C. Tansley (4) Jackie Smith

23, Wmmwwmaﬁammmmm

@Wﬁﬁmwﬁm@ﬁmmﬁmwﬁ%m ?

a. Wﬁmwwmwwmﬁéﬂ

b.  wfeem T em g T s S,

c. Wmmmwmamm.

d. mmmmmmmm

(1) % a SO R (2) & a 3T b IS 3R
(3) a, b 3T ¢ W sTR (4) ®¥d d SO TR

In the western part of Rajasthan minerals like limestone, gypsum and mineral
salts reserves are distributed.
Which of the following reasons are responsible for this occurrence ?

a. Western part of Rajasthan was submerged under sea water during
permocarboniferous period.

b. Western part of Rajasthan receives low rainfall.

c. Western part of Rajasthan has hot and dry climate.

d. In the western part of Rajasthan the area under vegetation is very low,
(1) only a is correct (2) only a and b are correct

(3} a, band c are correct {4) only d is correct

T FHIHHETE ST / SPACE FOR ROUGH WORK

A
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24. memam@mﬁmmm?

(1) Ar=E 5 (2) TR
(3) St (4) el A

Which of the following soil contain the maximum proportion of iron and
bauxite minerals ?
(1) Red soil (2) Regur soil

(3) Laterite soil (4) Alluvial soil

< 25. @sﬁa?%aﬁﬁ?ﬁa%ﬂaﬁﬁ(m%uﬁww(m%aﬁwmﬁ%wm@
COCIECTRTEE
(A) Wﬂwqmmmﬂma@,ﬁmwamﬁ.
(R) @mmmwmmmmmwaﬁ
u)waﬁmm@ﬁmw%mﬁw%ma@mem@
(2) (A)W(R)aféaﬁata@mi@(m%m)%@imw
(3) (A)%WW%W(R)%EEBW‘%
(4) (A)% T 3 T (R) & I I

Given below are two statements one labeled as Assertion (A) and other labeled

as Reason (R). Select correct answer from the options given below.

- (A) Cottonisnota weight lossing pure raw material, besides is light in weight

and durable.

(R) The localization of the cotton textile is found either in cotton producing
region or near market.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A}

(2) Both (A) and (R} are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A) is false but (R) is true

oI} TS W / SPACE FOR ROUGH WORK P.T.O.
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26. WWWWWWWWWW?
(1) e faan (2) fawn (3) fomes (4)  Tuferd

In the physical map of India, Maharashtra plateau is shown by which of the

following colours ?

(1) Dark green (2) Green (3] Yellow (4) Brown

27, @?ﬂaﬁﬁm%ﬂﬁa{wﬁwﬁﬁawmﬁ?

(1) 219 (2) 219
(3) 23 7w (4) 22 fedmr
On which of the following day does the summer solstice occurs in the southern
hemisphere ?
{1) 21 March (2} 21 June
(3} 23 September (4) 22 December
28. w AL 94 fadiEam weE wevar) s
(1) =9R Tg=n9 AEreq
(2) wwm@ﬁm@ﬁmwwwﬁmmﬁmmm
BIAl
(3) HEN WA ITHE SR arEar
(4) 3T A O FE I SRR Tt -

Winter rainfall receijved by the Mediterranean region is the result of
(1) Shifting of pressure beits

(2) Low pressure belt occurs over the Mediterranean region during the winter

scason due to shifting of pressure belts
(3) Winds blow from the Mediterranean sea towards land

{4) Orographic rain developed on the windward slope of the Alps

HET FIATEE AT / SPACE FOR ROUGH WORK

A
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29.

(1) fafes seramr=n TR fpTrEd 9 SR ST SE

(2) WWWWWWWWWW

(3) <t qETETT= AEHARE HAT gga AN A3 R

(4) dffeen mgramTore Afeert 9w Tt e YHTOE TS

Trenches are found mainly along the coast of the western Pacific Ocean

because

(1) The western margin of the Pacific Ocean is the sub-duction zone

(2) Along the western border of the Pacific Ocean parallel mountain ranges
are aligned

(3) The continental slope of the western part of the Pacific Ocean is steep

(4) The western part of the Pacific Ocean is characterised by a large number
of trenches

30. ‘Ww’muﬁag&mﬂmﬁwaﬁaﬁﬁﬁwwﬁaqﬁ@fﬁmm

3 7

(1) e T R TR R g & de Fret fer

(2) HIE WEHT Yo

(3) memmma@mwmm

(4) A ITEEE fersyfor BroTHY SRS T

The climatic phenomena retreating monsoon is the result of which of the

following atmospheric condition in India ?

(1) After reaching to the Himalayan ranges the south-west monsoons
retreats

(2) The apparent movement of the Sun

(3) The expansion of the high pressure belt from north-western part to
south-eastern part of India

(4) The occurrence of variability in the atmospheric pressure developed over
the Indian sub-continent

FHe=dl HTTETE! AT / SPACE FOR ROUGH WORK P.T.O.
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31, T o 3 v e
WWWW@WHW@WWWW
e
. HAYE w e gfme arft-qut @i

9. HIAHIRT S S 2l e e @i,
. FYE; SR S A e ot i 6 e
3. m%ﬁaﬁﬁmawﬁaﬁamﬁ%ﬁ.

(1) wad 3
(2) w0 @d T
(3) wF HTq
(4) ®F HTH

Which of the following is/are correct statements ?

In Maharashtra, in order from north, the major hill ranges on the plateau

and the river basins to their south are as follows :

a. Tapi Purna basin to the south of the Satpura mountain range.
b.  Godavari river valley to the south of Satmala Ajintha hills.

¢.  Harishchandra Balaghat hill and Bhima river basin to its south.
d. Shambhu Mahadeva hills and Krishna river basin to its south.
(1) Onlv a

(2) All are correct

(3) Onlyaandb

(4) Only a and ¢

eheedl FATETES AW / SPACE FOR ROUGH WORK

A
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32.
(1) Wmmlwﬁawﬁmwﬁmsﬁwﬁwaﬁw
(2) mmwmwwﬁwﬁwmm
(3) mmwmmmmﬁwmm
(4) HEITAA TEUTRN HBUT AATHES WIS S ’Ied o AN HAA 378
The Sahyadri range is not straight but at many places it is curved, because
(1) The Sahyadri range is curved at many places because of the headward
erosion of the Konkan rivers originating in Sahyadri
(2) The Sahyadri range is curved at many places because of the lateral erosion
of the Konkan rivers originating in Sahyadri
(3) The Sahyadri range is curved at many places because of the downward
erosion of the Konkan rivers originating in Sahyadri
(4) Due to heavy rainfall the Sahyadri range is heavily eroded and hence it
is curved
33. maww@imﬁﬁwwmmwm,m

(1) ﬁaﬁwwﬂaﬁﬁwwmﬁmmgﬁ
(2) $oT= Wi AT FrH) A T T B S w1
(3) FEr TS G ST @ e W ST T Ed

(4) T FErEA U FIE FE SN A A3 SHONA G st B

As compared to the Godavari and Krishna rivers, the course of the Kaveri
river receives large volume of water during winter, because

(1) The course of the river Kaveri receives heavy rainfall from the south-west
monsoons

(2) The course of the river Kaveri receives heavy rainfall from the north-east
monsoons

(3) The course of the river Kaveri receives rainfall from both south-west and

north-east monsoons

(4) The tributaries of the Kaveri provide large volume of water to the course
of the Kaveri

TH=od1 FHTHTETS! SFM / SPACE FOR ROUGH WORK

P.T.O.
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34. 3= A e sEm mwwwqﬁmmmmw
Rrg Hoarar = e 3R 7

(1) Samr=m T FfadeT TauatE g 9 e wEEry e

(2) s EuE fAfesdETA swen wenans wEie GreE e wed
(3) e T AfYEArs T AT g sEe

(4) Wwﬁﬁmmtﬁamww

In his theory of industrial location Altred Weber tricd to establish the pivotal
role of which of the following factors ?

(1) Labour cost plays a pivotal role in the selection of industrial location

(2) Cost of raw material plays a pivotal role in the selection of industrial
location

(3) Market accessibility plays a pivotal role in the selection of industrial
location

(4) Transport cost plays a pivotal role in the selection of industrial
location

35. wrcfiel faumrar faam w1 =t s/ F faam g s T2/ SATEd d FehaThrl a1
e I forgr.

1. Hizd Ff agen s e s,
2. Temrerds wevmm #EA v s aEE.
(1) w&d 1 T 3=

(2) EH 2 SO 3R

(3) TFET 1 30 2 FUeR EA

(4) 12 U AT F 2 # i A

Consider the following statements and sclect the correct answer using the
code given below.

1. A compact settlement is most probably surrounded by hamlets.
2. Compact settlements are not found in the Himalayvan region.
(I) Only 1 is correct

{2) Only 2 is correct

(3) Both 1 and 2 are correct

(4) Neither 1 nor 2 is correct

T HHETS AN / SPACE FOR ROUGH WORK

A
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36. an et s fTE (critical) AT G 33 &N
(1) =TES (2) U
(3) sfeETER (4) =mht ATE
are materials whose resistivities become z€ro below a critical
temperature.
(1) Conductors (2] Insulators
(3) Super conductors {4) None of these

37. mq@ﬁaﬁsemﬁwwaﬁmmﬁmﬁwm,mmuﬁmm

i ?
(1) 8 (2) 9
(3) 10 4) 11

If an object is placed symmetrically hetween two plane mirrors inclined at an

angle of 36°, then how many images will be formed ?

(1) 8 2) 9
(3) 10 @) 11
3s. %+hg+%=f@1ﬁ$,%nﬁwﬂaf&aﬂ o AR SEEe .
(1) qraed gieRt

(2) ST HHER
(3) et T

(4) IoRE EreRT
Py hg +—12— _ constant is the mathematical statement of
P

(1) Equation of continuity
(2) Bernoulli’s equation
(3) Pascal’s law

(4} Euler’s equation

T FTHTES! JFN / SPACE FOR ROUGH WORK P.T.O.
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39. SRl o fRiiean) gewmy at Tear dea
(1) mﬁzﬁmﬁﬁm&W4ﬁwﬁ?ﬁ

(2) FFUIF 14 FH EA 3l soEEgES 2 3 w6 w6y
(3) HUFF 1 7 drear
(4)  FIHE H STUERAHIE See T

When «-particle emits from a radioactive element then

(1) atomic number decreases by 2 and mass number decreases by 4
(2) atomic number decreases by 1 and mass number decreases by 2
(3) atomic number increases by 1

(4} atomic number and mass number remains same

40. I AM 104°F 3. B amwH o faft afcaem am o
(1) 35 #fcmam  (2) 37° afewmw (3) 39" ®fewmd  (4) 40° dfmm

The fever of a child is 104°F. What is this temperature in degree Celsius ?
(1) 35°C (2) 37°C (3) 39°C (4) 40°C

41. Wreltad=hl HoE fum st 3R 7
(1) WWWWWWWWWW@WWWW
HATH] T91d T 374
(2) WWWWWWWWWWWWﬂW
(3) RIS o7 qEATE FrA A T FG FH T A A 76
(4) mmwmmamﬁawmwmmm.

Which of the following statement is correct ?

(1) The speed of Planet is faster when they are nearer to the sun and slower
when they are farther away from the sun.

(2) The speed of Planet is faster when they are farther from the sun and
slower when they are nearer to the sun.

(3] The speed of Planet is same when they are nearer to the sun or farther
away from the sun.

(4) The speed of Planet is faster when they are nearer to the sun or farther
away from the sun.

TSI HHMETE! F / SPACE FOR ROUGH WORK
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42. @Fﬁamw—sﬂmammmﬁn:

o H o =

(1)
(2)
(3)
(4)

EiCCre
3 s
EREICEE ]
EREICEL ]

t, , Heaee

A ]

i1 i

v i
i iv

i1 iii

T T
1. HscH
11 Wﬁ
iil.  TFAEd

v, TSI

< g
iv 1
ii 11l
111 i
iv 1

Match the following — Vitamins and respective deficiency diseases :

Vitamins Deficiency disease
a. Vit. A i. Rickets
b. Vit. D ii. Scurvy
c. Vit. C ii1. Anaemia
Vit. By, iv. Night blindness
a b c d
(1) 1iii ii iv 1
(2) iv i il iii
(3) 1 iv iii ii
(4) 1 iii iv i
43. e & = Syl TR SESVR] Tl JHTIE 3.
(1) ™ (2) TreE
(3) v (4) s
Anguina tritici is the parasitic nematode found on plant.
(1) Wheat {2) Rice
(3) Jowar (4) Bajra

eIl HTHFETE ST / SPACE FOR ROUGH WORK

P.T.O.
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44. IEAEAT IAE TRV FI TR 7
(1) et
(2) HrIEH
(3) wigEh Faa
(4) WIGEH

Conchology is the study of what ?

(1) Coelenterates

{2) Mollusca

(3) Shells of Mollusca
(4) Mantle of Mollusca

45. e st umoft gewhrr SR i A wiehe A e e -
. T ynigdmedien gan qata die at am
d.  FEEHrom § Gy aafida s
F.  d % T TEEE
g, M 99 U IFET

Fterdeh! o faum /faur st smRa o
(1) ®Fd 3 (2) ¥, ganfrg
(3) 3, ¥ anfor & (4) wFa 3 anfir 5

Phyllum Mollusca contains soft bodied animals characterized of :
a. They are second largest phyllum in animal kingdom

b. They are generally bilaterally symmetrical

c. They are only Terrestrial animals

d. They are having muscular foot

Which of the statements given above is/are correct ?
(1) onlya (2} a,bandd
{3) a,bandc {4) onlyaandb

ST THIHTETS AR / SPACE FOR ROUGH WORK
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46. EEAEEE FIH TG SRS FEAY # WA - HAReTE H A
. e e
q. o5 Tadl U
%, T g HETe wEigl i
g, -HTTT ThAE
(1) #. 9 (2) &, % 3
(3) o, & 30 (4) wheh v

Which of the following major policy interventions are the part of the land

reforms in India ?

a. Abolition of intermediaries

b. Tenancy reforms

¢. Fixing ceilings on land holdings

d. Consolidation of land holdings

(1) a,bandc (2) b,candd

(3) a,bandd {4} All of the above

47, F=T AT eneff i e ¢
(1) wmesdre gt
(2) TTETE HHTR
(3) TS gETETe Al aad A T 3 S T
(4) FrT A=
Who are the beneficiaries of Annapurna Yojana ?
(1) School girls
(2) Casual labours
(3) Senior citizens who are not under National Old Age Pension Scheme

(4) Retired soldiers

Food TGS RN / SPACE FOR ROUGH WORK P.T.O.
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48. Wi It T I Bl ST
(1) 3= 51 R, 701 g3t @ sfon Jufifes wmumauean 98 @ wrarder g
(2) STTMAIA g4l G I FAwEE g g A=A gEE
(3) Hufifen e g5t @ sl Ser=AT 94 5 aree T
(4) Fafis G 340 2 s e 921 @ A s
Balanced growth rate aims at
(1) equality between growth rate of income, growth rate of output and growth
rate of natural resources
(2) equality between growth rate of income and growth rate of population
(3) equality between growth rate of natural resources and growth rate of
income
(4) equality between growth rate of natural resources and growth rate of
population
49, TR TEUTH
A, IENE ATRHE e
q. YEHed S faade
. G IRHEIE AR
(1) ®&a 3 (2) e 3 T
(3) ®F 3 17 T (4) TR 75
Urbanization means
a. Centralization of population in the cities
b. Decentralization of population in the cities
c. Centralization of population in villages
d. Increase in density of population
(1) Only a (2) Only aand b
(3} Only aand d (4) All of the above

TSI HEETE TN / SPACE FOR ROUGH WORK

A
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WWHWWW(AMRUT]WWWﬁWWW ?

50.
(1) AMRUT & Wid FeHR T8 SfiEe 3TE
(2) Waﬁwﬁmaﬁ%aﬁm%%ﬁaﬂ%
(3) 3 Fraudie sTerHeE TvETEn el HTeE™ wrsfH
(4) 25 @ 2015 Wl S 500 FEH e A T AT AT
Which of the following statements about Atal Mission for Rejuvenation and
Urban Transformation {AMRUT] is not correct ?
(1) AMRUT 1s flagship mission of Government of India
(2) It was launched by Ministry of Housing and Urban Affairs
(3) It addresses the challenges of water supply in cities across the country
(4) It was launched on 95th June, 2015 in 500 cities in the country
51. <81 CETn G dfaadl e —a% gt wien sfyE AL, ARE A $ed
30 T (FEfr) el A S,
(1) 20.33 {2) 50.33 (3) 40.33 (4) 33.3
If deprivation score of a household 1s percent or greater, then that
household is called multidimensionally poor.
(1) 20.33 (2) 50.33 (3) 40.33 (4) 33.3
52. I 1991 Wa@a@ﬁ?wwgw@mmmmﬁm
STRa. ATdiet AT FEeTE G
57, SATYR 0T WS JaTE HROn
§. el &
%, Trldaues anfon wEwtE IEm FAT
g. foeffm g gumom
(1) & o (2) @ g (3) A, FAIAF (4 ¥, 9, % A0S
Since July 1991, comprehensive liberalization measures have been undertaken
to improve the supply side of the economy. Among these the more important
are :
a. Trade and capital flows reforms
b. Industrial deregulation
¢. Disinvestment and Public Enterprises Reforms
d. Financial sector reforms
(1) aandb (2) candd (3) a,bandc (4) a,b,candd
oI HIWTEE! 9O / SPACE FOR ROUGH WORK P.T.O.
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53. ﬁﬁaﬁmmﬁﬁwﬁmﬁ%@@ﬁmﬁﬁwm.

9. S (e, 3= R e

. T ffem, syt

5. BAENF Nl e g

(1) 31w (2) ¥ e

(3) % wea (4) 3,9 & sfor g

The long-term objectives of economic planning, as spelt out in various plan
documents have been as follows -

a. Economic growth, self-reliance

b. Removal of unemployment, reduction in income inequalities
¢. Elimination of poverty, modernization

d. Inclusiveness and sustainability of growth

(I} aonly (2) bonly

(3) conly (4) a,b,candd

54. ﬁwﬁﬁ?ﬁmﬁwmg@aa@aﬁwm
q. O T smsed B, s dwes
. AR N wrefam wwem, T famm g
S. U ShighH, forammn gEn
(1} 31 %= (2) 31 3mfirs
(3) &, 97w+ (4) ¥, 49, % anfin g

The formulation and success of a plan require the following

a. Planning Commission, Statistical data, Objectives

b. Fixation of Targets and Priorities, Mobilisation of Resources

¢. Incorrupt and Efficient Administration, Proper Development Policy
d. Economy in Administration, Education base

(1) aonly {2) aandb

(3) a,bandc (4] a, b,candd

ST HIHMETE! AN / SPACE FOR ROUGH WORK
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55. ‘mémnﬁama“rmaﬁnﬂﬁmﬁ%ﬁm 9 IME.

(1) . faeta (2) T T (3) Tie (4) WA

‘A country is poor, because it is poor’ this statement is of

(1) G. Myrdal (2) Ragnar Nurks (3) Robbins (4) Marshall
56. Hqeid g4 [HEATER T8 HEET T AR,

3, 39 e 9 S W

§. Wigaeh a6 9 SR TH
%, FH 9 9 PEE &

5. sejereeddia v &

(1) wa A (2) ®FdH (3) %S (4) e 31 1§
Balanced growth theory requires balance between

a. Consumer goods and industrial goods

b. Capital goods and industrial goods

c. Agricultural sector and industrial sector

d. All sectors in the economy

(1) Onlya (2) Onlyc (3) Omlyd (4) Onlyaandb

57. fEre =N Hd,
a. mq@mﬁm:m@ﬂﬁmw,ﬁwmmmm@

Bl
et woR faum @ 3 1e/q 7
(1) 3 % (2) « wE
(3) 3 37T = (4) aberehi HowE AT

According to Schumpeter,
a. Developmentisa discontinuous and sponfaneous change in the stationary
state.
b. While growth is a gradual and steady change in the long run which, comes
about by a gradual increase in the rate of savings and population.

Which of the statement above is/are correct ?

(1) aonly (2) bonly
(3) aandDb (4) None of the above
o1 HIRMETE] S / SPACE FOR ROUGH WORK P.T.O.
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58. @maqaﬁﬁw,zomﬁaézon—12maﬁa&aa%méﬁﬁqmﬁémﬁn@?t Tl
(1) 50 =77 31f1 35 37y (2) 47 T wrfor 32 w3

(3) 55 %% 3ufur 40 w3 (4) 60 T i 45 v73
Rangarajan Committee, 2014 defined pov
per capita per day consumption expendit
per capita per day for rural areas,

erty line for 2011 - 12 at Rs.
ure for urban areas and Rs,

(1) Rs. 50 and Rs. 35 (2) Rs. 47 and Rs. 32
(3) Rs. 55 and Rs. 40 {4) Rs. 60 and Rs. 45
59, 2014mwwmmwﬁaﬁwmm A
(1) Treeeiwm s (2) T faawor g
(3) JuEEE 59 g7 Fa (4) oHTeTdeh g4

In 2014, the Government im
financial inclusion ?

(1) Demonetization Scheme (2)  Property Disclosure Scheme
(3} Pradhan Mantri Jan Dhan Yojana (4] All of the above

plemented which of the following Scheme for

60. S 9T EH FH 7
(1) I59THTE Srest Hefgesey
(2) WIEATET et sreieamay
(3) WM FUHHT HHTE TEay G
(4) AW FdEEETE nfEeArTs ey Gl
What is meant by Gender Budget ?

(1) Separate budget for men

(2) Separate budget for women
(<

(

)
3) Independent provisions for men in the general budget
4) Independent provisions for women in the general budget

61. 0.10M e HCL 2/ pH S1gurad) wrefier=h wmman nfmd g6y ama 7
(1) pH = log,,(1.0x 101 (2) pH =log,,(1.0x10")
(3) pH = -log,(1.0x 107 (4} pH =-log,,(0.10x101)
Which of the following marhematical relationships should be used to calculate
the pH of a 0.10M aqueous HCI solution ?
(1) pH = log,,(1.0x107Y)

(2} pH = log,,(1.0x10")
(3) pH = -log,,(1.0x 107

(4) pH =-log,,(0.10x 101

FToT FEHTEIS AT / SPACE FOR ROUGH WORK
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62. 1.5M H,SO, =1 10 dm” Z¥mEs 1.0N H,S0, 3 7180 7 5@ ¢
(1) fegwan grmmd 5 dm? T AT

(2) feie ZrEmE 294 77 H,S0,, =

(3) feren zrEvm@ 20 dm? T =

(4) feetem ZrEomE 174 78 H,SO, A1

Q17

How is 1.0N H,S0, solution is prepared from 10 dm? of 1.3M H,S0, solution ?

(1) By adding 5 dm” of water to it

(2) By adding 294 g of H,80, to it

(3) By adding 20 dm? of water to it
- (4) By adding 174 ¢ of H,50, to it

63. NH, aff1 BF, =51 3HIEEA e FOE T S A

(1) NH, - ffrea sufn BEF, - ffmee
(2) NH, - = 37f BF, - %

(3) NH, - % 7o BF , - fefise
(4) NH, - ffgen snfn BF, - wi®

Which of the following is correct for the shapes of NH, and BF; ?
(1) NH;- Pyramidal and BF; - Pyramidal

(2) NH; - Planar and BF, — Planar

(3) NH; - Planar and BF, - Pyramidal

(4) NH, - Pyramidal and BF; — Planar

64. TSR HUE FEGEHEATS 80 HE HHA ¢
H=1,C=12)
(1) =i (2) A (3) e (4) TR

Which of the following hydrocarbon has 80% carbon ¥

H=1,C=12)

(1) Benzene (2) Methane (3] Ethane (4) Cyclohexane

=TT FRTETS! F / SPACE FOR ROUGH WORK P.T.O.
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65. 180 I7 37§lch 3 (CH,COOH) 3T 180 i g (H,O) ushAeia fadesdt. Tam oo

H=1,C=12,0-= 16¢]
(1) 0.23 (2) 1.0
(3) 0.5 (4) ST v e

180 g of acetic acid (CH;COOH) is mixed with 180 g of water (H,0). The mole
fraction of acetic acid in the resultant solution is

(H=1,C-= 12, O = 16]
(1) 0.23 (2) 1.0
(3) 0.5 (4) None of the above

66. ml.owmmﬁmmmmmﬁmmAmmﬁamﬁwa@
ferrr, R 3.

(1) 0.0821 atm Lit mol~! K1

(2) 8.314 x 107 Joules K-! mol-!
{3) 82.1 atm Lit mol~! K-!

(4) 8.314 erg K! mol-!

If one mole of an ideal gas occupies 22.4 Lit at Standard Temperature and
Pressure, then the value of the universal gas constant R is

(1) 0.0821 atm Lit mol~! K-!

(2) 8.314 x 107 Joules K~! mol-1

(3) 82.1 atm Lit mol~! K-!
)

(4) 8.314 erg K1 mol-!
67. =it W v,
(1) oifagdr - i (2) "t - e
(3) wIfad - Fafome (4)  Imeeft - affrod
Find the wrong pair.
(1) Labiatae - Lamiaceae (2) Palmae - Arecaceae
(3) Compositae — Clusiaceae {(4) Umbelliferae — Apiaceae

Tl BHATE! AR / SPACE FOR ROUGH WORK
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68. WWWWW%@WW
(1) NADH,d ATP = &L F (2) NADPH d ATP =1 30 F7
(3) NADPH 3 ATP = fafddi = (4) ot =

What is the principal function of the light-dependent reactions of

photosynthesis ?
(1) To transfer the NADH, and ATP (2) To utilize the NADPH and ATP

(3) To generate the NADPH and ATP {4) All of the above

69. TZEE & JTEA.
o, TPI&TW
| . 3TRTAY
e ERR I
afierih! F Tl /T S AR/
(1) %34 & (2) s T H (3) FEd W AMNH (4) FEHE
are precursors of enzymes.
a. Zymogens
b. Ribosomes
c. RNA
d. Protein
Which of the option given above is/are correct ?
(1) onlya (2) onlybandc (3) onlyaand ¢ (4) onlyd
70. GiciciE! Hd o St e ¢
w. faw 2 #f50 3O 3R, 3 e T T .
— 5. ot glRTIER Sl FEaTd.
. Frroe fraferea ATEETET T TH
5. e 3 T e FE .
(1) 31 s 9 (2) #A, Haas (3 #oams (4 HWATE

Which of the following statement/s is/are correct ?

a. Enzymes are organic catalyst that accelerate biochemical reaction.

b. Enzymes are made up from proteins.

c. Enzyme activity is not depends upon temperature.

d. Amylase is an enzyme that act on starch.

(1) aandb (2) a,candd (3) a,bandd (4) all the above

F==T1 SHIUTETS] SN / SPACE FOR ROUGH WORK P.T.O.
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71. Wil Fm faum s 164 T R TR
(1) F@rr=rh Fd) TR S T
(2) ﬁmm%mww&mmmmﬁ
(3) wmﬁﬁgﬁwmmm
(4) ﬁﬁﬁwwﬁwmv%ﬁwﬁa@wtmﬁmwmﬁm

Which of the following statement is not included in Article 164 ?

(1} The Chief Minister shall be appointed by the Governor

(2} The Council of Ministers shall not be collectively responsible to the State
Legislature

(3) The other Minister shall be appointed by the Governor on the advice of
the Chief Minister

(4} A Minister who for any period of six consecutive months is not a member
of the Legislature of the State shall at the expiration of that period cease
to be a minister

72. =R qRdE i e 35 W
q. WWWWWWW%WISW@W
HATAT 3THA a1,
%, ww/ﬁmww&mﬁmamwwmwmmm
3. = Wt Terweft stfar erafuel wae
(1) 3, § s & (2) 3, & 371 8
(3} = anfmr = (4) #,9, % 3o g

Indian citizenship of a person can be terminated if
A. A person voluntary acquire the citizenship of some other country.

B. A person who has become a citizen through registration is sentenced to
imprisonment for 18 months within five years of his registration.

C. The government of India is satisfied that citizenship was obtained by
fraud.

D. A person has shown disloyalty to the Constitution of India.
{I) A,BandC (2} A, Cand D
{3) BandC {4} A B, CandD

HTTH1 HHHTE FFT / SPACE FOR ROUGH WORK
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73. AT SR SRR e dewid Wielierid A Fidl /e ST /e T8/ AR 7

N, e — I7-TEl 15

%, cigw snfewt - TsgEdl fagu ggdl

. IEE - WWW@WWWW
TewTE] AT TG

(1) & 3 (2) 3 3 & (3) A, g (4 AW EAME

Which of the following is/are correct pair/s with regard to acceptance in the
Indian Constitution ?

A. America -  Post of Vice President
B. Canada _ The concept of ‘Union’ for the Central Government
C. South Africa - Election method of Rajya Sabha

— D. Ireland _ Nomination method of the members of the Rajyva

Sabha by the President who have done special work
in specific area

(1) Only A (2) AandC 3) A,BandD (4) A, B,CandD

74. TEEE T A B/ G I Wefeth HI0E/d 38 /4 7

. m(umon)aﬁwzﬁmﬁﬁamﬁwwmmméﬁ
rfor Fedren TR areavaTETdl el F,

8w T T Wi AR Aer 2u S o wedtd HEe .

. ST SEEET T Sl STt e s et

= o T AR wheu s S f-vTe e A sl HoaEet
Tormreft s,

(1) +9 # (2) §,HME (3) AFUE (4) ata 7

Which of the following is/are the main objective/s of Committee of Parliament

e on Official language ?
A. To review the progress made in the use of Hindi for official purposes of
the Union and to make recommendations to increase the use of Hindi.
B. Looking into the linguistic demands for new States and make suggestions
in that regard.
C. Identify the endangered language and make recommendations to protect
and preserve them.
D. Examine the vernacular education and make recommendations for
effective implementation of the three languages formula.
(1) A only (2) B,CandD (3} AandD (4) All of the above
e HHTETS! ART / SPACE FOR ROUGH WORK P.T.O.
A
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75. Toew aftwg seastien dewia @l faum /fam R .
#. foewr aftegen v wew wed= 15 e sifavam w9 o @) de s
FEIEIHT IS USIHTIH1 21 SAnm,
9. g aitwe seasin wmen ool cvaren fvla gt TEE T T S,
g, ﬁmwﬁwammwmaﬁmﬁﬁqmmmﬁmﬁm

FieThl 3T fyum e,
(1) 3=
(2) =3 g
(3) o afor =
(4) & e

Consider the following statement/s with reference to the President of Zilla
Parishad.

A. If 1/5% of the total number of members of the Zilla Parishad moves a
motion of no confidence and passes it, the President has to resign from

office.

B. Sudhakarrao Naik’s cabinet took the decision to give ministerial status
to the President of Zilla Parishad.

C. Vasantrao Naik’s cabinet took the decision to give ministerial status to
the President of Zilla Parishad.

D. Vasantdada Patil’s cabinet took the decision to give ministerial status to
the President of Zilla Parishad.

Select the incorrect statements from the above.,

(1) AandC
(2) BandD
(3) Aand B
(4) Cand D

Tl HIFMETE] A / SPACE FOR ROUGH WORK
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QTR form —aeTensh Fe S /o ATEd 7

. fify smam
1. T3 fag smm
M. U™ qreaita 3
IV. Z wrfedt s
(1) e | S 378 (2) e I 3700 IV SR 3118
(3) e 1, 111 3001 IV STt 3178 (4) e [ 3ATOT IV ST TR
Which of the following is/are non-constitutional body/bodies ?
I. NITI Aayog
II. State Finance Commission
III. National Commission for Backward Classes
[V. Central Information Commission

(1) Only lis correct (2} Only IIl and IV are correct
(3) Only I, 1IT and IV are correct (4) Only [ and IV are correct
77. QT I SRR (Fuwor) AUtEE, 2016 = Y@ Tl
W, M AR T SArgEd stufem, 2013 (16 FEER 2014 TS @0 #el)
A GHROT el TR,
§. TEAMH SFFE (Public Servants) ATeTHT STV iR qU9iiel 16l Hogrel
T Hafa FEee 2013 <0 FREFE hem 44 1 i gesll a5,
&. T T TSIl SR TerEl T Ush aNTeET 31 ShUE! 1H SRR A T,
s eI W HaEr Ao S e qoeiel 30 feae wet s
STl qidg BefavaTa STel 3.
iietieh! IOl faem SR AAEd
(1) s.asmfras (2 A Faie (3) A, Fams (4 Iaw
Key Provisions of Lokpal and Lokayukta {Amendment) Act, 2016 :
A. Tt amended the Lokpal and Lokayukta Act, 2013 (which came into force
on 16 January 2014},
B. It also amended Section 44 of the 2013 Act that deals with the Provision
of furnishing details of assets and liabilities of Public Servants.
C. Made it compulsory that all States should set up the office of the Lokayukta
within one year.
D. The Amendment has removed the period of 30 days for furnishing details
of assets and liabilities of Public Servants.
Which of the statements given above are correct ?
(1) A,Band C (2) A,BandD (3) A,CandD (4) All of the above
THe=dl HIFTES] AN / SPACE FOR ROUGH WORK P.T.O.
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78. TS AT a1 G e Wieieiiehl I 3778 /3R 7

Q17

(1) wmETaes Snior Aafors eesn ArECieAT =T g9 A HievITgA St TRvET=n

HevTa fafime asrri=h st =

(2) @RI ITTer StegfoTeh RS ATTEeR gl W - s fammamedt wramit
B o Feen 2

(3) @ISR i Stegforer geemT ATTECieAT ST ERE, Fearu, famm ot e
JHEH 3T HE IR 120

(4) Seid oe

Which of the following is/are a duties of National Commission for Backward

Classes ?

(1) Toenquire into specific complaints with respect to the deprivation of rights

and safeguards of the socially and educationally backward classes

(2) To participate and advise on the socio-economic development of the

socially and educationally backward classes

(3) To discharge other functions in relation to the protection, welfare,
development and advancement of socially and educationally backward

classes
(4) All of the above

79. WrRfiedh! FHord el g o v
WIRATe! T 98t

(1) +gfee ol s sfem (aradamsl) =t . s —um.

(2) FrgfTee urdl 31w sfean (¢ b am.)
(3) =gs@ gu 9y (Sfiwm.dh.)
(4) AT 3fea qume ww (T3 )

Which of the following pair is incorrect ?

National Party of India
{I) Communist Party of India (Marxist) CPI-M
{(2) Communist Party of India {CPI)
(3) Bahujan Samaj Party (B.S.P.)

(4) All India Trinamool Congress (AITC)

TG Y

- 1964
- 1926
- 1984
- 1998

Year of establishment

1964
1926
1984

1998

TFHeedl RIHTETS T / SPACE FOR ROUGH WORK

A



ﬁ 37 Q17

80. I WA T

., Y9~ 1 1. Hoivd &

g, 4r - 111 ii. T=Ed T

F. ¥ - IX iii, AVTHEh

g 9 - I iv. HOUsE 9 e HEed
H o ED =+

(1) iv i ii i

(2) i i i iv

(3) i il i iv

(4) iv i i i

Match the pairs correctly.

A. Part-| i. Fundamental Rights

B. Part -1l ii. Panchayat Raj

C. Part-1X iii. Citizenship

D. Part-11I iv. The Union and its territory
A B C D

(1) iv ii ii i

(2) iii i i iv

(3) ii iii i iv

@) iv i i i

81. wEN FEEmHA SEEla & S gl S aren SeaE e TAeedre
(1) TUsg9TSA dde] Iehdid
(2) TSI & FHaATd
(3) fomhy srgHaW TeATgEl e HUg waw] Wb
(4) EETE FIEC FEA THG TG Ihd
Provisions of the Constitution relating to the administration of Scheduled
Areas and Scheduled Tribes in Schedule -V
(1) may be altered by the Governor
(2) may be altered by the President
(3) may be altered by the Parliament by Constitutional Amendment
requiring special majority
{4) may be altered by the Parliament by ordinary legislation

FHeedl HIATHTS AT / SPACE FOR ROUGH WORK P.T.O.
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82. ‘T (SVAMITVA) ais=h sfewsr wrefiatish & smea »
¥, OTHESH] ] AIAHET SR el HVATETE) e anifdie A giifvea s
a9, TElt FRsmEE sl smerssTaved wfadien s Al aan wm
%, AR gafid e wH g,
g, Ao # iy s
(1) ehde A (2) ", FAMET (3 ;FMUET  (4) aba T

Which of the following are the objectives of the ‘SVAMITVA’ Scheme ?
A.  Ensure financial stability to villagers by letting them use their property
to take loans.

B. Create precise land records for urban planning and implementation.

C. Lessen property related disputes.

D. Determine property tax.

(1} Only A 2) B,CandD (3) A, CandD {4) All of the above

83. WHEY=A YA V&' (Zero Hour) Hewld @reie faur fa=ma =
F. FATTIE AEHR S0 Frg Savanansi des anfn guneE wowE geeg
9. T VR SO G HISUARE, HEE SIS §HieA 8.00 1 9.30 I Gekd AN e 2.
F. AW, Y[ qECUEN T4 FHFEN SEH A9 Yol (7)) Arevarh wa i 3w,

Tt AT TSl ATEY,
AU HIoT fae sl 372d 7
(1) 31 =7for = (2) A, M s (3) =, ®wanrz (4) 3 3mfor g

Consider the following statements regarding ‘Zero Hour’ of Lok Sabha :

A. The time immediately following the question hour and laying of papers
and before any listed business is taken up in the house has come to be et
known as the zero hour.

B. For raising matters during the zero hour members has to give notice
between 8.00 a.m. to 9.30 a.m. everyday to the Speaker.

C. At present, thirty matters per day as per their priority are allowed to be
raised during zero hour.

D. There is no maximum limit on the number of matters that can be raised
on any given day as there is no provision in rules about Zero Hour.

Which of the statements given above are correct ?

(1) Aand B (2) A,BandD (3) B,CandD (4) Aand D

HeeH1 HINTHIS AR / SPACE FOR ROUGH WORK
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84. nﬁa%amwmmﬁmwmmﬁwwm
7
3. Srasie st sat e S 7 favd wHad geimed e .
5, St T Eied sat SR dreieiel FE o gy aurase .
%, HOAH HL g vy FHad! geme auiase .
3. WA o anEEd @ fav o g e AR,
(1) A, s (2 F,Ha0e (3 A AT (4 3, F NS

Which of the following statements are correct regarding the legal relationship

between the Central and State Government in India ?

A. The subject of transfer of property other than agricultural land is included
in the Concurrent List.

B. The subject of wealth tax on property other than agricultural land is
included in the Union List.

C. The subject of entertainment tax is included in the Concurrent List.

D. The subject of ‘Antiquities Museum’ is included in the State List.

(1) A,BandC (2) B,CandD (3) A,BandD (4) A, CandD

85. TeARTHE g = A1 [l A SIS HUA I, WA h HOe] FERar
T TEEY g A ?
[ =8¢ 513 AN Yen Had
Il HI=8c 368 TAN HIATGHE
1. 3M=de 352 o T Fofiamf

V. 3=8¢ 123 41 J8%H
(1) I s (2) w1l TR
(3) TRl Td T (4) afieTaehl FIUTTE] SIS AT

After the extensive discussion in the Constituent Assembly, the following
provisions was/were included. Which Article does not include ?
[. Fundamental duties under Art. 51A
1. Constitutional Amendment under Art. 368
III. National emergency under Art. 352
IV. Ordinance under Art. 123

{1) Only I correct (2) Only II correct
(3} All of the above are correct (4} None of the above are correct
THoedl SHIATETS! JF / SPACE FOR ROUGH WORK P.T.O.
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86. HEest 2022 e 10 o1 HIAU Wed W HIVEN T4 FEIC S0 37T 7
(1} wemg (2) I He
(3) fasmm (4) smam
In which State was the 10™ International Tourism Mart organized in November
2022 7?
(1} Maharashtra (2) Uttar Pradesh
(3) Mizoram (4) Assam

87. wWieliel faum fa=me Seq 7 afy faar,
b, =yl @ B Tsu TS 2.
c. T Yo5d BHIETE TR HIEA.
(1) ®F a S 38
(2) a A b T T HZA
(3) a M ¢ e ;T 3mEa
(4) a, b A0 ¢ SR 3TEA

Choose the correct option considering the following statements.
a. Ramesh Bais is appointed as the Governor of Maharashtra.
b. Earlier he was the Governor of Tripura State.

c. He belongs to Chhattisgarh State.

(1) Only a is correct

(2) a and b both are correct

{3} a and ¢ both are correct

(4) a, b and c are correct

FHTeH] FHHEE! AT / SPACE FOR ROUGH WORK

A
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88.'égﬁnw‘wwﬁ%ﬁ‘wm@@aﬁaﬁw.

5 o TR eIl TR WA AT FHUE HAE .
a1 TfEEem aaEaTd el fecidh A< THOER U .
%, 2030 T HANIE FEIE w1 & A HfEE Sfe .
o & T TS ST SESeA e TEfeve A,
(1) 3 3nfin & st 3=
(2) W HAMO T T L

bl (3) W, % A T T 312
(4) #. ¥ I T TR 3018

Examine the following statements regarding the ‘Nutrition Promotion

Campaign’ of the United Nations.

A. Afshan Khan was nominated as the co-ordinator of this Campaign.

B. Antony Blinken was nominated as the co-ordinator of this Campaign.
C. To eradicate malnutrition by 2030 is the objective of this Campaign.

D. This campaign is implemented in countries suffering with malnutrition

in the world.

Identify the correct statements from the above.
(1) A and B are correct

(2) C and D are correct

(3) A, C and D are correct

(4) A, B and D are correct

HH==T] HTETd] §H / SPACE FOR ROUGH WORK P.T.O.
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89, QOQSWWWWQWWWWWW

AT 7

9. wgarel g fuem ngHEa.

. SICSAT] HETe SHever i fae geniEes,
B, Fd FHilwE T a1 sl faem e,
(1) e 37 3for g

2) wH H, F fr g

3) FH 9, F g
4) wF T 7107 F

—

In the Budget 2023 of Maharashtra State, which Corporations was announced
to be established ?

A. Raje Umaji Naik Economic Development Corporation.
B. Marathwada Milk Development Corporation.

C. Jagadjyoti Mahatma Basaveshwar Economic Development

Corporation,
D.  Saint Kashiba Gurav Youth Economic Development Corporation.
(1) Onlv Aand D
(2} Only A, Cand D

3) Onlv B, Cand D
Only B and C

—_— —
—

90. G FVE & 2023 74l Ty AT~ 32 fagrm afie’ = asmm 29 7

(1) = faeefi (2) T

(3) AT (4) g o

Which of the following city was the host of 5t ASEAN-India Business Summit’
in 2023 ?

(1) New Delhi {2) Dhaka

(3) Kuala Lumpur (4) Singapore city

ool HHTHTE S / SPACE FOR ROUGH WORK
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91. Tuye firath 2 didam fom w8 feaamga w=a 3R, = dedsenfawf o faum e,
. B gEI ddEs TR,
7. 3 dier gREe T R a9 aTe.
. & ArE T A et TET A9 R,
s 2 fig uffar ddam a1,
(1) % NI F T 3R
(2) e 3 T T S 38
(3) H#d & T F TS 3717
(4) HF F TUT ATB
The Shrine of Sammed Shikharji has been in news for the past few days.
Identify the correct statements about this pilgrimage site.
A. It is the pilgrimage site of Jain community.
B. This pilgrimage site is at Girdhi in the Jharkhand State.
C. This pilgrimage site is at Aravali Mountain in Rajasthan.
D. It is the pilgrimage site of Hindu community.
(1) Only A and C are correct
(2) Only A and B are correct

(3) Only B and C are correct
(4) Only C is correct

92. ‘T M LI MR FEANTE WRAH HO I T 7
(1) FIEH T&d
(2) AT BHES
(3) HTHTH grEd
(4) FTEE wE&

Which Mission did India conduct to aid earthquake affected in ‘Turkey’?
(1) Operation Rahat

(2) Operation Hamdard

{3) Operation Dost

(4} Operation Sakha

=1 HATHEIE! IR / SPACE FOR ROUGH WORK P.T.O.
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93. 'Y.U4. FT 15 Hewid WAl s fau= /fauam e,
¥, A THEA ANIAE SEEfay R A1 200 7T
a.  FmiAs Safatauar s auier= gegararE g,
F. A0 FT 15" AHETTE HA e

FIOATH] THA A FH AT heled] 772,
(1) 31 A o Fiaw 378 (2) = o g ;W w0
(3) & A0 &% aviem 3738 (4} ¥, F 30 T WE AR

Identify the correct statement/s from the following in relation to the

UN COP 15

A. The Global Biodiversity Agreement was approved by this Council.

B. The Global Biodiversity Agreement was done under the Presidency of
America.

. China presided ‘UN COP 15’

D There is a need to make efforts to reduce the consequences of climate
change and the conservation of threatened species in the agreement,

(1) A and B are correct (2) B and D are correct

(3) B and C are correct (4] A, C and D are correct

94. @refictidr w1 Tl femefl 9% s v, wfee Tfas sifeEn St 2023 3 3z

F 7
(1) = s o o (2) °f 7ig A
(3) of 3EA ww (4) AT T3 s

Who among the following inaugurated IBA Women’s World Boxing
Championship, 2023 in New Delhi ?

{1} Shri Anurag Singh Thakur (2} Shri Narendra Modi
(3) Shri Amit Shah {4)  Smt. Jayashree Banerjee

T HHTETE! 1T / SPACE FOR ROUGH WORK
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95, WIoild ST AT,

A RR e 2022 D
a. ad! HAHI i, ogffes
b. @l Had ii. =gl
c. oem T iii. Flgees
a b c
(1) i 1l ii
(2) i i iii
(3) i1 ii i
(4) i 1i iii
Match the following.
Winner of Arjun Award 2022 Sports
a. Bhakti Kulkarm i. Badminton
b. Sakshi Kumari ii. Kabaddi
c. Lakshya Sen iii. Chess
a b c
(1) 1 iii ii
(2) i i iii
(3} il il i
(4) i i i

906. TE 2023 TE HEHEY T59H %2 e i fawm miussn (fiow W E ) = 3eas
TR I e et SR 7

(1)

FigaTa gt

(2) fou= urEd

(3)

51 TR

(4) HufHd sEEAE

Who has been appointed as the Chairman of Pension Fund Regulatory and
Development Authority (PFRDA) by Government in March 2023 ?

(1)

Amitava Mukharjee

(2) Deepak Mohanty
(3) Rajesh Malhotra
(4) Supratim Bandopadhyay
TF=eH] RIUTATS] UM / SPACE FOR ROUGH WORK P.T.O.



ﬁ 46 Q17

97. 25 dl U $-Teg4 v, 2022 I3 ARG el Bt 7
(1) Hicad - IS
(2) HeE - WENTY
(3) ITERCEIE — TUA
(4) e — I HifE

Where was the 25™ National E-Governance Conference, 2022 held ?

1} Kollam — Kerala

[3®)

) Mumbai - Maharashtra

(
{
(3) Ahmedabad - Gujarat
(

4) Katra - Jammu Kashmir

98. IwH 7 2023 = qwrd e 2 sivren 2t geht snfr wfker @ufia e 2
(1) =zqu (2) FRIOREE
(3} THESA (4} fegwaam

UNESCO has dedicated International Education Day of 2023 to which

country’s girls and women ?
(1) Iran (2) Afghanistan

(3) Israel (4) Vietnam

99. 2023 WL w M fafew TohdET oo Tt SIS 3R 7
(1) arfefern (2) =gEhere
(3) feamgrets (4) e

Which country has removed the mention of the British Monarchy from its

currency notes in 2023 ?
(1) Australia (2) New Zealand
(3) Switzerland (4) Canada

FHoed] HIHTETS! ST / SPACE FOR ROUGH WORK

A



47

100. 2023 =1 "Tensfl [ERTETs ST ol

(1)
(2)

- (3)

(4)

|

TR TS
I G

a b c
i1 iii 1
i1 v
i v 1ii
i1 i iv

1.
il.
iii.

.

d
v
i
1

iii

Q17

fomm smfor sfsmtret
afeed snion fegon

IS

Match the pairs about ‘Padma Shri’ Award, 2023.

EE I

o

(1)
- (2)
(3)

Person

Ramesh Patange

Dr. Mahendra Pal ii.
Uma Shankar Pande iii.
Parshuram Khune iv.
a b c d
i iii i iv
iii il iv 1
i iv iii i1
ii i iv iii

Field

Science and Engineering
Literature and Education
Art

Social Work

el HHTATE WM / SPACE FOR ROUGH WORK

P.T.O.
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(8) m%ﬁﬁ%ﬁm%ﬁmwmm(mﬁ)w&mmm
T FTICTER Hoel FTH heqTH § Hfl FA=AT A Sl 318, HY A AT § AR ST
WIEAT Y Sherean Tl Sor=n e ghey s HAfufm-82" adiet TELTER
mﬁwﬁaaﬁwﬁmwmwm/mmwmmm
forerm s 2w,

(9) B FTEREE! S fafed Seicht So dyeaAm SHEaTTen # werafiTe T st T e
A3 A0 AR SR, AT Then FaTa oargEt SHEaR S IRateea . 1 aad e

3 Foraae uwa w0t sireves 9T,
YA 99
9. %. 201, G St T wawndt woft gerd; swe w7 |
(1) Tart g e (2) svatg faemmn
(3) TS THHIEA 174 (4) TIITESFET T

B T A S (3) T O T 3 AR, S W e 3 (3)”
B, A WA T . 201 el sv-si (3)”  ades yoiwwn
BT e G0 TEwIH R,

®© O @ 6
I TGAH W SIRYRAHAT T WS qEe R-FF 71 qEEr S

aIeR FAbhEa @ @ S -FaihEn e Tl g it s S
ZRGETE1. EITEhRAT e o IS AeTu Ao, Bf-aret an oImdst O s 74,

el TRTHTETS! T / SPACE FOR ROUGH WORK




